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A

:a= (v—wvo)/t=10- (20/3.6)]/0. 001=
- 5600m/ s’

500g ,
2. R B 4T Bk 5B &
2 60km ,

0.75s,

:os=wt= (60/3.6) x0.75= 12. 5Sm
3. #IFHIESH
3 50km/h ,
. 7
¢ 0.6)
= v/ (2gP) = (50/3.6)%/ (2% 9. 8% 0.6)
= 16.4m

4 96k h, a
0.8 .
: s= v/ (2ga)= (9%/3.6)%/(2%9.8x0.8)
45.35m

4. %) AT 693k B
5 23.61m

%
528000)

o= eb = [2x9.8x0.6%x23.61 =
16.66m/ s= 60km/ h
5. 1T %AEH

v= 120km/

: (1) , ,
st :s1= o= (120/3.6) X 0. 5= 16.7m
(2) a :a=F/m=- 04mg/m
= - 0.4g= - 4m/s’
) ) S$2 ;
s2= (vi— v8)/2a= [0- (120/3.6)%]/[ 2% (= 4)]=
138. 9m

(3) (
):s3= 5~ 10
(4) s rs= si+ sa+
s3= 16. 7+ 138. 9+ 5= 160. 6m
7 , )
x= 4dm,
h=1.5m v ?

: h= gt”/2,
x=u v=x Jg/_2h= 4% m: 7.3m/ s=
26.3km/h

8 1.2x 10N,

, 6.7x 10°N,



2. Tm

G L, F

L FL' = GL :L
FL'/G=6.7x10°x2.7/(1.2x10')= 1.5m

1. #5 %A
, R
toma= R
9 m= 2. 0% 10°kg
, r= 50m R v=
72kny/ h, ?

Foax= 1. 4x 10°N

: F=m*r=2x 10 x
(72/3.6)%/50= 1.6x 10°N

Fuoux< F )
10 ,
?
: Hng = ma, fs= vY2a=
vz/ZLg
: bng= m*/r, ir= vz/Lg
r> s,
2. R A B
0, F
, G
. , G
F ( )
0 stan 0= F/ G= (mv*/R)/ G= v*/(gR)
11 100km/ h R
= 100m ,
: tan 0= v/ (gR)= (100/3.6)%*/(9.8 x 100)
=07, 0=387
12 ,
, 22.2m/s
22.2m/s, « ”
1. 4m,
6 3 ( 93 )

: 0. 6m, r=
0. 3m, W= p/r=22.2/0. 3= T4rad/s
13 92kW,
195km/ h, ?
P= kv , F=P/v= 92 x 10

(195/3. 6)= 1697N

( ) ) ,
0. 05
14 80km/ h ,
120ms~ 150ms
7 ( 0kg)
: Fi= m(v-vo) :F=m(v-

vo) /1= 60% (0- 80/3.6)/0. 12= — 1.1x 10'N

15 AB , A
A s1= 4m, B s2= 4.5m
¢ 05 A G 1= 12kN,
x1= 0.35m B Go= 11kN,
x2= 0.4m

vi=  RgPsi= J2x9.8x0.5x4= 6.26m/s, v2=
LRagta= 2% 9.8 0.5% 4.5= 6. 64m/ s

mivio + m2v20= mivl +
mavaz, 14

miguio+ ma28v20= migvi+ m28va,
12010+ 1lvyp= 12X6.26+ 11x6.64
: 2o+ 11v2o= 4.82 ®
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Vet = [ mo/(mi+ m2)] (vio— vw)= [ mag/
(mig+ mag) [ (vio— v20)

210.24= [ 11/ (124 11) ] (vio— v) ®
0@
vio= 16. 8m/s= 60. Ikm/h wvx= - 4. 73m/s=

— 17km/h

e 16 °

x| A
( 243011)
, (
s 43 ”»” 43 ”»” ( 2) s
, [19 ”»” , N ,
’ 13 ( 1)
”»” [13 ”»” 2
s 192
, 1934 ,
—— —— ’
1 )
, B :ve2= 29. 25x2=
x tve= 29.25x 20.25x 0.4= 11.7
A svel= 29.25¢1= 2925% (.35 “wee= [mV (mi+ m2)](vio- vo)= [ mg/
=1024 (mig+ mag)](vio— vo)

SAL 7= [12/(12+ 11)](vi0- v) ®
OB
vio= 17.2m/s= 61.8km/h wvxp= - 52m/s=
- 18. 8km/h
A B

v1= 60~ 62km/h wvx= - 17~ — 19km/h



